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Part A: Grammar and Vocabulary
Directions: Questions 76- 87 are incomplete sentences. Beneath each sentence you will see four words or

phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence.
Then mark your answer sheet.

76- Did Maryam ask the rest of you ............. before the meeting?
1) was | going to do what 2) what | was going to do
3) | was going what to do 4) what was | going to do
77- Amin and his friend watched some videos ............. some strange desert animals.
1) for showing 2) to show 3) showed 4) showing
78- The girl is so excited about the gift she has received from her teacher ............. she takes it around with
her wherever she goes.
1) which 2) since 3) that 4) as
79- They are looking for the man responsible ............. damaging the building.
1) for 2) by 3) with 4) about
80- The employees are likely to complain to top managers once again unless their salary is ............. .
1) raised 2) caused 3) developed 4) restated
81- Although they were not satisfied, they agreed to help us stand against our enemy as a ............. of
friendship.
1) purpose 2) scene 3) gesture 4) stance
82- Nasim did not go to the cinema with her friends because she said she had seen the movie ............. .
1) directly 2) previously 3) briefly 4) immediately
83- The athletes used every opportunity available to ............. the skills they needed to succeed in the
games.
1) obey 2) launch 3) speculate 4) enhance
84- Don’t argue with him anymore; he is not ............. enough to change his mind once he has made a
decision.
1) flexible 2) efficient 3) mental 4) certain
85- One of the important ............. that makes humans different from animals is the ability to think.
1) expectations 2) presentations 3) features 4) effects
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86- The student has been ill in bed for two months; now she should work very hard to ............. with the
others in the class.
1) keep up 2) make a difference
3) take action 4) do her part
87- Our estimate of the repairs required was much less than the ............. cost.
1) economical 2) artificial 3) various 4) actual

Part B: Cloze Test

Directions: Questions 88- 92 are related to the following passage. Read the passage and decide which
choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

The Amazon Jungle, also known as the Amazon rainforest, or Amazonia, ...88... most of the South
American Amazon basin. The total area of this basin ...89... 7 million square kilometers, and 5.5 million
square kilometers of it ...90... the jungle. The Amazon Jungle is the largest jungle in the world and
covers ...91... almost half of the total area of the jungles of the world. The Amazon Jungle falls within
the territories of nine countries. Most of the jungle, which is about the 60 percent, is in Brazil. Peru
contains 13 percent of the jungle ...92... Columbia contains 10 percent of it.

88- 1) stretches 2) observes 3) locates 4) includes
89-1)itis 2) there are 3)is 4) are
90- 1) consists of 2) is involved in 3) compares with 4) concentrates on
91- 1) equal to an area is 2) an area that is equal to

3) an area it is equal to 4) an equal area which
92- 1) even though 2) because 3) where 4) whereas

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer
sheet.

® Passage |I:

Even if the term ‘appropriate technology’ is a relatively new one, the concept certainly isn’t. In the
1930s Mahatma Gandhi claimed that the advanced technology used by western industrialized nations
did not represent the right route to progress for his homeland, India. His favorite machines were the
sewing machine, a device invented ‘out of love’, he said, and the bicycle, a means of transport that he
used all his life. He wanted the poor villagers of India to use technology in a way that empowered
them and helped them to be able to depend on themselves and improve their living standards.

This was also the philosophy promoted by E.F. Schumacher in his famous book Small is Beautiful,
published in the 1970s, which called for ‘intermediate technology’ solutions. Do not start with
technology and see what it can do for people, he argued. Instead, “find out what people are doing and
then help them to do it better”. According to Schumacher, it did not matter whether the technological
answers to people’s needs were simple or sophisticated. What was important was that solutions were
long-term practical and above all firmly in the hands of the people who used them.

93- What does the passage mainly discuss?
1) Weaknesses of Western technology
2) Modern ways to use advanced technology
3) A different approach to the application of technology
4) A comparison of advanced and less advanced technology
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94- Why does the author refer to E.F. Schumacher in paragraph 2?
1) To refuse the idea supported in paragraph 1
2) To provide more explanation of the main point made in paragraph 1
3) To prove that it is also possible for people to succeed even without advanced technology
4) To show Gandhi’s opinion about the problem related to the use of technology in Western nations
95- According to the passage, Mahatma Gandhi believed that poverty in Indian villages ............ .
1) was because of their use of very simple devices
2) could be removed if villagers made use of technology in a way suitable for their homeland
3) was made more difficult to manage because villagers were used to receiving financial help form
Western countries
4) basically came from the fact that villagers thought their problems were too great to be solved
through local technology
96- The word “it” in paragraph 2 refers to ............ .

1) what people do 2) intermediate technology
3) solution 4) using technology
m Passage Il:

The word ANIMAL comes from the Latin, ANIMA, which means life principle, breath, air, soul, living
being. Understanding the spiritual essence of animals and respecting them as fellow intelligent beings
is necessary to make telepathic exchange possible between different species. Animals are able to
communicate with humans who are open to the telepathic connection. They get your intentions,
emotions, images, or thoughts behind the words, even if the words themselves aren’t totally
understood.
I have communicated with animals all my life. Since 1971, | have successfully used with animals the
same counseling techniques that help humans through difficulties and problems. Over the years of
listening and talking to thousands of animals and counseling them and their people, | have commonly
seen upsets and problems resolve, negative behavior disappears, illnesses and injuries go away fast,
and warmth and friendship between humans and animals appear and increase. For those who do not
believe this and need physical proof of telepathic communication, these often-dramatic changes are
evidence.
Although the ability to communicate telepathically usually is lost in childhood in our culture, where
there is love for animals and willingness to re-learn, that ability can be learned again. The rewards are
close relations and delight for humans and non-humans.
The first thing you can do to start on the road to direct communication with animals is to throw
away any negative attitude that animals are lower, or less intelligent beings. This kind of attitude
prevents true communication with animals, just as it does with humans. Regard animals with respect,
openness and as potential teachers, and this alone will enable you to look at them with a fresh light
and open up a wellspring of information from them about who and how they are.
97- The passage most probably continues with a discussion of ........... .

1) how animals communicate among themselves

2) another thing to do to directly communicate with animals

3) what animals feel like when they communicate with human beings

4) the reason why the animal world has remained a mystery to human beings for a long time
98- According to paragraph 2, which one of the following in NOT mentioned as those benefiting from

counseling techniques?

1) animals

2) humans

3) both animals and people

4) those not open to the telepathic connection
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99- Which of the following does the writer refer to as a dramatic change (paragraph 2)?
1) Loss of telepathic communication in humans
2) The very existence of illnesses
3) Disappearance of negative behavior
4) Listening to animals
100- Which of the following can be inferred from the passage?
1) People speaking Latin can better communicate with animals.
2) Humans in their first few years of life can communicate with others telegraphically.
3) Nowadays we cannot find people who hold the negative attitude that animals are lower.
4) Evidence supporting the truth of telegraphic communication with animals is increasing on a daily

basis.




